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Among guinea pigs, the black fur gene (B) is
dominant and the white fur gene (W) is recessive. This
means that a guinea pig with at least one dominant gene
(BB or BW) will have black fur. A guinea pig with two
recessive genes {(WW) will have white fur.

The Punnett square below models the possible
combinations of color genes that parents who carry
both genes can pass on to their offspring. Since WW is %
of the outcomes, the probability that a guinea pig has
white fur is %.
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hili "es found in the Punnett
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product glves the Sa} e re ult as the Punnett square.
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The expressions 3!4%52 and } /< indicate the probability
that offspring will have either two dominant genes or two
recessive genes is 3. The expression 3BW indicates that
there is J,_; chance that the offspring will inherit both
genes. These are the same probabilities shown in the
Punnett square.
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a. Find 812 using mental math.

(80 + 1)?
= 802 + 2(80 - 1) + 12

— 6400 + 160 + 1 = 6561  Simplify.
'b. Find 592 using mental math.
592 = (60 — 1)?
= 602 — 2(60 - 1) + 12 f@@%@@%m the binomial
= 3600 — 120 + 1 = 3481 ﬁémgz%%iyo

8)(p + 3)

= p8 — 64 .ggmg} ify.

Find 43 . 37. u

(40 + 3)(40 — 3) Express each factor u
and A4,

402 — 32 Find the difference of sou
= 1600 — 9 = 1591 Simplity.
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